

ترانه طاهریان - یازدهم دفتر - تلف ۲۳

$$\log_{nm}^m = \frac{\log_n^m}{\log_n^{nm}} = \frac{\log_n^m + \log_n^n}{\log_n^m + \log_n^n} =$$

$$\frac{r \log_n^m + 1}{\log_n^m + 1} = \frac{ra + 1}{a + 1} = b$$

$$[b] = \left[\frac{a + a + 1}{a + 1} \right] = \left[\frac{a}{a + 1} + 1 \right] = \left[\frac{a}{a + 1} \right] + 1$$

$$a > 0 \rightarrow [b] = 0 + 1 = \boxed{1}$$

الف) $y = \sqrt{\frac{x}{\log_{\frac{1}{r}} x}}$ $x > 0$

$\frac{x}{\log_{\frac{1}{r}} x} > 0 \rightarrow \log_{\frac{1}{r}} x > 0$ $x > 1$

با $\frac{1}{r}$ مخرج کسری

$$\Rightarrow \log_{\frac{1}{r}} x > 0 \Rightarrow x < 1 \Rightarrow D_f = (0, 1)$$

ب) $y = \frac{\log_r (x^r - x - r)}{\sqrt{x^r - 1} + 1}$ $x^r - 1 > 0 \Rightarrow$

$x^r > 1 \Rightarrow x > 1$ $x < -1$ ①

$$x^p - x - p \cdot 0 \Rightarrow (x - p)(x + 1) \cdot 0 \Rightarrow$$

$$\begin{array}{c} -1 \quad p \\ + \overline{) 0} - \overline{) 1} + \end{array}$$

$$\begin{array}{l} x < -1 \\ x > p \end{array} \quad (p)$$

$$\textcircled{1}, \textcircled{p} \rightarrow D_f = (-\infty, -1) \cup (p, +\infty)$$

$$p \log_a^a + \log_a^{\sqrt{x}} = p \xrightarrow{x=9}$$

$$p \log_a^a + \log_a^{\mu} = p$$

$$\log_a^a \xrightarrow{\textcircled{q}} \mu^p = \frac{1}{p} \log_a^a = \frac{1}{p \log_a^{\mu}}$$

$$\Rightarrow p \times \frac{1}{p \log_a^{\mu}} + \log_a^{\mu} = p \xrightarrow{\log_a^{\mu} = t}$$

$$t + \frac{1}{t} = p \Rightarrow \frac{t^p + 1}{t} = p \Rightarrow t^p - pt + 1 = 0$$

$$(t-1)^p = 0 \Rightarrow t=1 \Rightarrow \log_a^{\mu} = 1 \Rightarrow \boxed{a=\mu}$$

$$\log_{\frac{a}{\mu}}^{\frac{a}{\mu}} = \log_a^a - \log_a^{\mu} = 0,1V - 0,1K = 0,1\mu$$

$$\log_{\frac{1}{p}}^{\frac{1}{p}} = \log^{1,1} - \log^p = 1 - 0,1\mu = 0,1V$$

$$\log_{10} 9 \rightarrow 10^r = r \log 10 = r \times 0,3 = 0,3$$

$$\log_{10} 100 \rightarrow 100 \times 10 = \log 100 + \log 10 = 0,3 + 0,3 = 0,6$$

$$\Rightarrow 0,3x^r + 0,3x - 0,6 = 0 \quad \times 10$$

$$3x^r + 3x - 6 = 0 \quad \text{وَسْوَ} \rightarrow x^r + x - 2 = 0$$

$$(x+2)(x-1) = 0 \rightarrow x = \frac{10}{10} = 1$$

$$\rightarrow x = -\frac{2}{10}$$

$$\text{اضلاع} = 1 - \left(-\frac{2}{10}\right) = 1 + \frac{2}{10} = \boxed{\frac{12}{10}}$$

$$\log_{10}^r = \frac{\log_r^r}{\log_r^{10}} = \frac{1}{\log_r^{10}} = \frac{1}{r} \Rightarrow \log_r^{10} = r - 10$$

$$\log_{12}^{10} = \frac{\log_r^{10}}{\log_r^{12}} = \frac{\log_r^{10} + \log_r^r}{\log_r^{10} + \log_r^r} = \frac{r+1}{r, 10+1}$$

$$\frac{10}{12,1} = \boxed{\frac{10}{12,1}}$$

$$\log_{12}^{10} = \frac{1}{\log_r^{10}} = 1,4 \Rightarrow \log_r^{10} = \frac{10}{14}$$

$$\log^{\gamma}_{\omega} = \frac{\log^{\gamma}_{\omega}}{\log^{\omega}_{\omega}} = \frac{\log^{\gamma}_{\omega} + \log^{\omega}_{\omega}}{\log^{\omega}_{\omega} + \log^{\omega}_{\omega}} = \frac{\omega + 1}{1 + \omega}$$

$$= \frac{\frac{1}{\omega}}{\frac{1}{\omega}} = \frac{1}{1} = \boxed{0,4\omega}$$

$$\log^{\omega}_{\omega} = m \Rightarrow \frac{\gamma}{\omega} \log^{\omega}_{\omega} = m \Rightarrow \log^{\omega}_{\omega} = \frac{\omega}{\gamma} m$$

$$\log^{\gamma}_{\omega} + \gamma \log^{\omega}_{\omega} = \frac{\omega}{\gamma} m \Rightarrow \gamma \log^{\omega}_{\omega} = \frac{\omega m - 1}{\gamma}$$

$$\Rightarrow \log^{\omega}_{\omega} = \frac{\omega m - 1}{\gamma}$$

$$\log^{\omega}_{\omega} = \log^{\gamma}_{\omega} + \log^{\omega}_{\omega} = 1 + \frac{\omega m - 1}{\gamma} = \boxed{\frac{\omega m + \omega}{\gamma}}$$

$$(0, \gamma)^{\gamma x - 1} = (\gamma x \omega^{-1})^{\gamma x - 1} = \gamma^{\gamma x - 1} \times \omega^{1 - \gamma x}$$

$$\left(\frac{1}{\omega}\right)^{\gamma x} = (\omega^{\omega} \times \gamma^{-\omega})^{\gamma x} = \omega^{\omega \gamma x} \times \gamma^{-\omega \gamma x}$$

$$\Rightarrow \gamma x - 1 = -\omega \gamma x \Rightarrow \omega \gamma x + \gamma x - 1 = 0$$

$$\Rightarrow x = -1, x = \frac{1}{\omega} \quad \gamma x + 1 = 0 \Rightarrow \gamma x = -1$$

$$\Rightarrow x = -\frac{1}{\gamma}$$

kifet.ir

$$\log_1^{(9x+1)} = \log_{\frac{1}{10}}^{\frac{1}{10}} = \boxed{\frac{1}{10}}$$

$$\log_1^b = \frac{1}{10} \log_1^b = \frac{1}{10} (1+a) \Rightarrow$$

$$\log_1^b = \frac{1}{10} + \frac{1}{10}a = \log_1^{1 \times 10 \times 10} = \log_1^{100}$$

$$\log_1^1 \rightarrow 1 \log_1^{100}$$

$$\Rightarrow b = 100 \Rightarrow 10b - 1 = 1 \dots \log_1^1 = \boxed{1}$$

$$-kax^r + bx + \frac{1}{r}c = 0 \quad g = \frac{-b}{a} = \frac{-b}{-ka} = \frac{b}{ka}$$

$$\log_1^k = \frac{ka}{b} \Rightarrow \log_1^r = \frac{ra}{b}$$

$$a = \frac{b+c}{r} \Rightarrow ra = b+c \Rightarrow c = ra - b$$

$$\frac{c}{a} = \frac{ra - b}{a} = r - \frac{b}{a} = r - r \log_1^1 =$$

$$\left(\frac{1}{\sqrt{r}}\right)^{\frac{c}{a}} = \left(\frac{1}{\sqrt{r}}\right)^{r - r \log_1^1} = \left(r^{-\frac{1}{r}}\right)^{r - \log_1^1}$$

$$= \frac{\left(r^{-\frac{1}{r}}\right)^r}{\left(r^{-\frac{1}{r}}\right)^{\log_1^1}} = \frac{r^{-1}}{(1 \dots)^{-\frac{1}{r}}} = (0.1)^{-\frac{1}{r}} = \boxed{\sqrt[r]{0.1}}$$

kifet.ir